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the middle of an
ordered set of S

the sum should end in a 5 or O
2 t l l t 0 t l t z 0

let a any integer
at 1 t x 12 T K 13 t 1 4 5 27 x z5 x t 10 5

51 2

even 2h
Odd 2n I

13 t 15 28 I 871
It 3 4 933

280 4
let n m be anytwo integers

Then 2nt I are 2 odd integers2Mt l

2h t l t 2Mt 17 2Mt 2h 2
z Mt htt
Because this is
divisible by2 it is
even



�ŚĂƉƚĞƌ�ϭ� ^ĞĐƚŝŽŶ�ϭ͘ϯ��ĞĚƵĐƚŝǀĞ�ZĞĂƐŽŶŝŶŐ� /ŶĚƵĐƚŝǀĞ�ĂŶĚ��
�ĞĚƵĐƚŝǀĞ�ZĞĂƐŽŶŝŶŐ�

�

�ƐƐŝŐŶŵĞŶƚ� Ɖ͘�ϭϳ�ηϭͲϯ� �
Ɖ͘�ϮϮ�ηϭ͕�ϰ͕�ϱ͕�ϭϭ͕�ϭϮ�͕ϭϲ�

�ǆĂŵƉůĞ�WƌŽǀĞ�ƚŚĞ�ĐŽŶũĞĐƚƵƌĞ�ĨƌŽŵ�ĂŶ�ĞĂƌůŝĞƌ�ůĞƐƐŽŶ��
͞dŚĞ�ĚŝĨĨĞƌĞŶĐĞ�ďĞƚǁĞĞŶ�ĐŽŶƐĞĐƵƚŝǀĞ�ƉĞƌĨĞĐƚ�ƐƋƵĂƌĞƐ�ŝƐ�ĂůǁĂǇƐ�ĂŶ�ŽĚĚ�ŶƵŵďĞƌ͟�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
WƌŽŽĨ�ƵƐŝŶŐ�sĞŶŶ�ĚŝĂŐƌĂŵƐ��
�ǆǆĂŵƉůĞ�'ŝǀĞŶ͗�� �ůů�ŐŽƌŝůůĂƐ�ĂƌĞ�ƉƌŝŵĂƚĞƐ͘��ůů�ƉƌŝŵĂƚĞƐ�ĂƌĞ�ŵĂŵŵĂůƐ͘����

������ŽŶƐŝĚĞƌ͗�� 'ƌŽĚĚ�ŝƐ�Ă�ŐŽƌŝůůĂ͘��tŚĂƚ�ĞůƐĞ�ĐĂŶ�ďĞ�ĚĞĚƵĐĞĚ�ĂďŽƵƚ�'ƌŽĚĚ͍�
�
�
�
�
�
�

let c be anyinteger

Then XZ and let 1 2 are consecutive
perfect squares
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x 11 x 11 z 2

22 2 1 x 2

2 1 which is the definition
of an odd number

primates
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